N/A
N/A

Sl =
ITEM [QTY BILL OF MATERIALS ITEM_NO. o E
A_| 1 | IMPACT HEAD MS3000 |y
Q ) 46'=10§" [14.29m} L B | 1 | W—BEAM GUARDRAIL END SECTION, 12 Ga. | SF1303 Sl
/3 —1% [952] C | 1 |FIRST POST TOP (6X6X3" Tube) MTPHP1A | 2:'
RIW I D | 1 | FIRST POST BOTTOM (6' W6X15) MTPHP1B S5
@D
| 8' 50" | 6'—3" [1905] '~3" [1905 '—3” [1905 '—3" [1905 '—3" [1905] '—3" [1905 '—3” [1905 ‘ E | 1 | SECOND POST ASSEMBLY TOP UHP2A N
| | I ;/@ fFI F | 1 | SECOND POST ASSEMBLY BOTTOM HP2B
| PUE I R/W 4O| | | F o  Comr s o  Comr — [ 1 | BEARING PLATE E750
, { I ' 1) 0 0 H | 1 | CABLE ANCHOR BOX 5760
| ! EX. R/W 33 66 | Length of Need PLAN J | 1 | BCT CABLE ANCHOR ASSEMBLY E770
) EX. RIW SRP LAl K | 1 |STRUT MS785
| I | 37 | M Enfd OT Ptc)lflmt?nt L | 6 |6x9 (6x8.5) STEEL POST P621
I or Instaflation M | 6 | RECYCLED PLASTIC BLOCK OR EQUIV. CBSP—14
I
| : B/C I | (H,_m(8), n(8), o(8)) N | 1 | W—BEAM MGS RAIL SECTION (9'—4 1/2") | G12025
| 4' 12' 12' 7' | 0 | 2 | W—BEAM MGS RAIL SECTION (12'—6") G1203A
| ! - ! | ® HARDWARE (ALL DIMENSIONS IN_INCHES)
| BIKE THRU TURN A & a | 2 |5/16 x 1 HEX BOLT GRD 5 B5160104A
|  1.5% I o THRU I—— £ **** | | 0 b | 4 |5/16 WASHER W0516
R RRRRREEEE G e 270 L e | | == c | 2 |5/16 HEX NUT NO516
s —— T ——===40 — -l d | 25 |5/8 Dia. x 1 1/4 SPLICE BOLT (POST #2)| B580122
| | | 2 25'+ | " _ - | e | 2 |5/8 Dia. x 9 HEX BOLT A449 B580904A
| | | SAWCUT [ ~ _ [ f_| 3 |5/8 WASHER W050
23'+ EX. E/P ~ - Detail g | 33 |5/8 Dia. H.G.R NUT NO50
BUCKEYE FEEDER Soil Plate on h | 1 | 3/4 Dia. x 8 1/2 HEX BOLT GRD A449 | B340854A
6' SIDEWALK | EX. EP Downstream 7 | 1 |3/4 Dia. HEX NUT NO30
" " CANAL Side k | 2 |1 ANCHOR CABLE HEX NUT N100
5" AC ON 14" ABC A ELEVATION I | 2 |1 ANCHOR CABLE WASHER W100
6" VERTICAL CURB m | 8 |1/2 RSI SHOULDER BOLT W/WASHER SB12A
n | 8 |1/2 STRUCTURAL NUT NO12A
& GUTTER AVO ND ALE BLVD o | 8 |1/2 STRUCTURAL WASHER WO12A
LAV NDLAMIM MV p | 1 | BEARING PLATE RETAINER TIE CT—100ST
(MINOR ARTERIAL) S —— e
£ f H GENERAL NOTES:

LOOKING NORTH ] = — 1. All bolts, nuts, cable assemblies, cable anchors and
N.T.S. = - bearing plates shall be galvanized.
Y R 2. The lower sections of the Posts 1&2 shall not

— 0 to 24" Rail Offset Over 50 OPTIONAL FLARED INSTALLATION protrude more than 4 in [100] above the ground

25:1 maximum flare rate (measured along a 5' [1.5m] cord longitudinal to the
system). Site grading may be necessary to meet this
requirement.
3. The lower section of the hinged post should not be
driven with the upper post attached. If the post is
placed in a drilled hole, the backfill material must be
satisfactorily compacted to prevent settlement.

4. When competent rock is encountered, a 12" [300] &
- post hole, 20 in. [500] deep cored into the rock surface
. may be used if approved by the engineer for Posts 1
Bothofs'SZﬁ and/or 2. Granular material will be placed in the bottom

of the hole, approximately 2.5" [60] deep to provide
drainage. The first and/or second post can be field cut
to length, placed in the hole and backfilled with suitable
w backfill. The soil plate may be trimmed if required.
Anchor Bracket 5. The breakaway cable assembly must be taut. A
locking device (vice grips or channel lock pliers) should
be used to prevent the cable from twisting when
tightening nuts.

t
g RW 100' RIW RW g
! 50' RIW 50' RIW | P.UE.
! 13' 37" 37" 13 !
| LANDSCAPE/ BIC | BIC LANDSCAPE/ |
| SIDEWALK SIDEWALK |
| |
| |
| |

(602) 335-8500
WWW.WOODPATEL.COM

SSION: CLIENT SERVICE ©

MI

4 12' 12' 16" 76" 12' 12' 4
o BIKE THRU THRU TURN TURN ‘ THRU THRU

BIKE| | »

WOOD/PATEL

11

1.5

—

%

o
o=

31”7 [7871
(25D

(€=

2_
10' 11'-6" |
THRU THRU ' 6' SIDEWALK

|
10' MEANDERING /
SIDEWALK PER PLAN . . . .
6" VERT'CAL CURB 5|| AC ON 14" ABC Post #1 Connectlon Detail ImDOCt HeOd Connectlon DetCll| SECT'ON A—A Road SVStem;I Inc. - — RN_JRR

6" VERTICAL CURB & GUTTER 6" VERTICAL CURB Post #2 o B oo " VSkrspmoss | Newe | o
& GUTTER & GUTTER

BROADWAY ROAD #1
MINOR ARTERIAL

LOOKING WEST
N.T.S.

MSKT-SP-MGS |

Terminal (8" Blocks) [ os2017
Test Level 3

|———

R/W

/\ ALAM

P.UE.
92" !

&SWE. ! 19

VARIES 37" | C/LTOSIL 37" EE. VARIES

4

LANDSCAPE/ B/IC B/IC LANDSCAPE/

|

|

|

-

SIDEWALK . :
|

|

|

|

|

g RW RIW VARIES 65'- 80' ¢ 3 RIW VARIES 35' - 42
[
|
|

1
Brush Finish
34 R

g 12 12 T | 76 12 12 e 25' ' |
o | [BKE THRU THRU TURN | TURN ‘ THRU THRU BKE| | , _— EX-POWER POLE

|
|
|
|
|
: : SIDEWALK
|
| -
| CIG !

10" MEANDERING

[}
11.5% 2% f::A::fi§% 1.5% | I
7 AN NN SIS AT A ] —— S — I-E-"' ‘‘‘‘‘‘ SN NUNAANAA

11'-6" 10' r r N 10' 11'-6" | \ \
THRU THRU, B/C B/C X\ THRU THRU \ 6" VERTICAL CURB 6' SIDEWALK

AVONDALE BLVD, BROADWAY RD, AND ALAMAR PARKWAY |0

pd
<
-
(Al
©)
=
X
e
<
=
o
pd
<
©)
SIDEWALK PER PLAN
CIG C/G \- 6" VERTICAL CURB & GUTTER S averment Flush With O =
" " A _I Z
6" VERTICAL CURB & GUTTER 5" AC ON 14" ABC \ Lip Of Gutter — O
& GUTTER R w
BROADWAY ROAD #2 Class "B" S AN
MINOR ARTERIAL Concrete j 0|2
115th LANE to AVONDALE BLVD. < E
LOOKING WEST MODIFIED 6" VERTICAL CURB QT O
N.T.S. WITH DEPRESSED LIP — A |~
NTS. LLJ 1 CDB
L | o (ZD
NOTES é <|Z
LOT LINE i <
. RIW : ¢ \ RIW \ \ All exposed surfaces to be trowel finished : O ¢ <§E al
| 8 40 40 8 | VARIES except as shown. See M.A.G. Section 340. % oY ‘ Il
I P.UE. R/W R/IW P.U.E. | LANDSCAPE . . . ) . o 3 z
| WE. ! 25' 25' ! | TRACT 2. Contraction joint spacing shall be 100 maximum : 0N |¢ <E 3
| &SWE. B/C B/C ' ! | or as directed by the Inspector.
| 4 12' 7T 12' 4 | 3. Construct curb and install /2 mastic =2
| | ) BIKE THRU TURN ' TURN THRU BIKE o ! | expansion joints, A.S.T.M. D—1751, per
| 11.5% ] 2% 2% 1.5% ] M.A.G. Sec. 340 & 729.
v e RS e |
I
10' MEANDERING 6" VERTICAL CURB 6' SIDEWALK
SIDEWALK PER PLAN 3.5" AC ON 10" ABC & GUTTER Two working days before you dig,

6" VERTICAL CURB CALL FOR THE BLUE STAKES

& GUTTER ALAMAR PARKWAY / 6&;_7;141 00

Blue Stake Center EXPIRES 12-31-21
(MINOR COLLECTOR)
LOOKING NORTH NOTE: 2/1/2019

ALL CONSTRUCTION SHALL BE IN ACCORDANCE
WITH THE MOST RECENT EDITION OF THE CITY
OF AVONDALE'S SUPPLEMENT TO THE M.A.G. SHEET NUMBER
SPECIFICATIONS AND STANDARD DETAILS 20 oF 30
CURRENTLY ON FILE AND AVAILABLE AT THE SROJECT NUMBER
CITY OF AVONDALE'S ENGINEERING DEPARTMENT 174612.04
OR ONLINE AT THE CITY OF AVONDALE'S WEBSITE. | )

Z:\2017\174612.04\Dwg\lmp\OFFSITE\Paving Plans\Infrastructure\4612.04-020-DT.dwg (CHECKED BY: FMK DESIGNED BY: CCC DRAFTED BY: BT)

ENG 18-0208



AutoCAD SHX Text
BROADWAY ROAD #2 MINOR ARTERIAL

AutoCAD SHX Text
AVONDALE BLVD (MINOR ARTERIAL)

AutoCAD SHX Text
BROADWAY ROAD #1 MINOR ARTERIAL

AutoCAD SHX Text
ALAMAR PARKWAY (MINOR COLLECTOR) 

AutoCAD SHX Text
except as shown. See M.A.G. Section 340.

AutoCAD SHX Text
1.  All exposed surfaces to be trowel finished

AutoCAD SHX Text
7"

AutoCAD SHX Text
Pavement Flush With

AutoCAD SHX Text
Lip Of Gutter

AutoCAD SHX Text
1"

AutoCAD SHX Text
Brush Finish

AutoCAD SHX Text
Concrete

AutoCAD SHX Text
1

AutoCAD SHX Text
/

AutoCAD SHX Text
2

AutoCAD SHX Text
"

AutoCAD SHX Text
  R

AutoCAD SHX Text
  R

AutoCAD SHX Text
"

AutoCAD SHX Text
4

AutoCAD SHX Text
/

AutoCAD SHX Text
3

AutoCAD SHX Text
Class "B"

AutoCAD SHX Text
3.  Construct curb and install     mastic

AutoCAD SHX Text
1

AutoCAD SHX Text
/

AutoCAD SHX Text
2

AutoCAD SHX Text
"

AutoCAD SHX Text
expansion joints, A.S.T.M. D-1751, per

AutoCAD SHX Text
M.A.G. Sec. 340 & 729.

AutoCAD SHX Text
NOTES

AutoCAD SHX Text
2.  Contraction joint spacing shall be 10' maximum

AutoCAD SHX Text
or as directed by the Inspector.

AutoCAD SHX Text
12"

AutoCAD SHX Text
24"

AutoCAD SHX Text
12"

AutoCAD SHX Text
6"

AutoCAD SHX Text
6"

AutoCAD SHX Text
6"

AutoCAD SHX Text
1"

AutoCAD SHX Text
Two working days before you dig,

AutoCAD SHX Text
800-782-5348

AutoCAD SHX Text
Blue Stake Center

AutoCAD SHX Text
263-1100

AutoCAD SHX Text
CALL FOR THE BLUE STAKES


	Sheets and Views
	Sht 20


